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1. Let S be a set of all distinet numbers of the
form £, where p, q 11, 2. 3, 4, 5, 6. What is
the cardinality of the set 5 7
(a) 21
(b) 23
e} a2
d}y 36

2. Ife>0and4a+c<2b,thenax" —bx+ec=0
has a root in which one of the following
mtervals 7
(a) (0,2
b (2.3
(e) (8,4)

id) (-2,0)

3. IFA=I:LEE::E+E::H?~:IJ]E.:1&
B=[xecR:x" +9x+ 14> 0}, then which of the
following i='are correct 7
1, ANBslxeR:-2<x<l)

2. ANBeslxe R:—-T<x<c-2)

Select the correct answer using the code given
below :

ta) 1only

(b)Y 2 only

(e} Bothland?2

(d) MNeither 1 nor 2

4. If A is a square matrix of order 3 and
det A = 5, then what is det IfEATII equal to ?
(a) 1/10
(b 2/6
{c) &f5
(d) 1/40

ADN-S-SND

Ts

(2-A)

What ig o'% + o®™ & m‘qmequal to, where w ig
the cube root of unity 7

{a) 1

ihi hii

@ 3o

(d) O

If Ra[:_iJ =0, where z=x+ iy isa

complex number, then which one of the
following ie correct 7

B8y z=1+t

W |z|=2
e z=1-i
d |z|=1
a h g
Whatiz [x ¥ 2|/|h b f|equalto?
g T .e

fa) |ax+hy+gz h+b+f g+f+cl

(b} hx by £

nx + hy + g2
() b+ by + £
| gx + 1y +cz

(dl lax+hy+gz hx+hby+fz gx+fy+cz



10.

11.

ADMN-5-SND (4

Ot of 15 points in a plane, n points are in the
game straight line, 445 triangles can be
formed by joeining these points. What is the
value of n 7

(a) 3
by 4
ey B
(dl &

If z = [? 2] {g E]m. then

what is the imaginary part of z equal to ?
fa) O

1
Wy
(b} 5
Va3
() ?
d) 1

If both the roots of the equation
x —Zkx + k- 4 = 0 lie between — 3 and 5,
then which one of the following is correct ¥

(a) —-2<k<2
(b)) -GH<k<d
() =3<k<b
d}) =-1l<k<3

What iz the number of distinct solutions
of the equation 2 + |z} =0 (where 2 is a

complex number) 7

(a) Ome
(b}  Two
(c} Three
(d) Five

12.

14.

15.

—A)

How many geometric progressions isfare
possible containing 27, & and 12 as three of

iteftheir termes 7

(e} One

(b} Two

(e} Four

id} Infinitely many

Let R be a relation from A=
B = (1, 3, 5} such that
BR=({a,b):a<h whersaec A and be B},

What is RoR™} equal to ¥

{1, 2, 3, 4} to

ta)  1(1,8), (1, 5) (2, 3), (2, B), (3, B), (4, BY)
(b) (3, 1), (5, 1), (3, 2), (5, 2), (5, 8), (6, 4}}
e} (3, 8), (3, B), (6, 3), (5, B}

id) (3, 3),13, 4), (4, 5))

A five-digit number divizible by 3 is to be
formed using the digits 0, 1, 2, 3 and 4 without
repetition of digits. What iz the number of
ways this can be done ?

{al 98

(b} 48

{e) 32

td} Nonumber can he formed

5

What is 'l"'C-,,, +mC3 + Z %-i0y equal to 7
j=

ar g,

o o

@ "o,

L



Consider the following for the next three (03)
Hems that follow :

Let a, x, v, 2, b be in AP, where x + v + 2 = 15, Let
a,p, q,r b bein HP, where p'l . :|'11 +r ' =5/3.

16. What is the value of ab ?
ta} 10
(b} ©
cy &
dy &
17. What is the value of xyz 7
{a} 120
{b) 1056
{e] O
{d} Cannot be determined
18. What is the value of pgr 7
(a) 85/243
(b)  81/35
o) 243/35
idl  Cannot be determined

Consider the following for the next two (02)
items that follow :

The mixth term of an AP 15 2 and its common
difference is greater than 1.

18. What is the common difference of the AF so

that the product of the first, fourth and fifth
terms is greatest 7

8/5

95
2

11/5

What is the first term of the AP 0 that the
product of the first, fourth and fifth terms is
greatest 7

(a) -4
(by -8
{c) =8
idy —10

[a)

(b
()

{d)

ADN-S-SND

(8-

Consider the following for the next two (02)
itema that follow :

E+1 2x dx
Letaz® + bxl +cx +d=|2x 43 i1 x® :
S=x dx+d4 bBx=1
then
21. Whatis the value af ¢ 7
fa) =1
thy 34
ey B35
(d) &0

Whatisthevalueof a +b+c+d?

(a} 62
(b} 63
{e) 60O
(d) 68

Congider the following for the next two (02)
items that follow :

The interior anglee of a polygon of n sides are in AF.
The smallest angle is 120° and the common
difference is 5°.

23. How many possible values can n have 7

(a) One
(b} Two
e} Thres
{d} Infinitely many
24, What is the largest interior angle of the
polvgon ?
ta) 160" only
(b)  195° only
(e}  Either 160° or 195"
(d) Neither 160° nor 195°

A)



20,

27.

1 0O 4] 1
Ifm-= andn = , then what
0 3 -1 0
is the value of the determinant of
measH—nsin A7
a) -1

thy 0
&) 1
dy 2
ex —sinx 0
If fix) = |ginx coex 0|, then which of
L 0 1

the following are correct 7

[ f0) = fla) = {8 + 0.

2 The walus of the determinant of the
matrix f6) = fd)is 1,

3, The determinant of fix) 15 8o even
function.

Select the correct answer using the code given

below :

{a) 1land2only
{b) 2and 3 only
{c) 1land3only
(d) 1,2and3

Which of the following are correct in respect
of the system of equations x + v + z = B,
x-v+2z2=6 and 3x-y+5z=k?

1 They have no solution, if k = 15.

e They have infinitely many solutions, if
k=20

3,  They have unique solution, if k = 25.

Select the correct anawer using the code given
below :

(a) 1and2only
(b} 2and3 only
(¢) 1and3 only
id) 1,Zand3
ADN-S-SND

28.

29,

30,

(B-A)

1 =1 2 &
If A= and B = . then
P a -1 -2

which of the following is/are correct 7
1. AB(A™BYis a unit matrix.
Y - e e

Select the correct answer using the code given
below ;

{a) 1only

(b) 2 only

(e} Both1and?2
(d) Neither 1 nor 2

\ .
‘1'"[£ AT M[Ei 41
If x B/ ypietml o A¥S o Y for oany

x>1,¥v=>1and z > 1, then which one of the
following is correct 7

{a) Inyisthe GMofln x, In % In x and In 2
(bl Inyisthe AMofinx,Inx, Inxandinz
¢} Inyisthe HMofin x, Inx,Inxand In =
(d)] Inyvisthe AMoflnx; Inx; lnzandinz

If the number 235 in decimal system is
converted into binary system, then what 15 the
rezulting number 7

(@) (11110011),
(b} (11101011),
(e} (11110101),
d)  (11011011),



Consider the following for the next two (02)|34.
items that follow :

Let o and [ be the roots of the equation
¥ (1-2a%x+(1-2a¥) =0,

41. Under what condition does the above equation

have real roots 7
. |
(a) -
A< 5
(hl &H = l
d
1
] e
s
dy afzl
2
a5,
32. Under what condition is i * 23 < 17
2 2
e B
|
o) a —
“ 3
1
b} at> =
2
@ a1 36,
idl ae [E, —] anly
a3
Il rid
83. Whatis J l+ Y aqual to, where o is the cube
= Li}
g
root of unity ? 47,
fay 1
(bl m
@ w®

(d)  éw, wherei= -1

ADN-S-SND (10=A)

In an examination, 70% students passed in
Physics, 80% students passed in Chemistry,
T6% students passed in Mathematics and
86% students passed in Biology, and x%
students failed in all the four subjects. What is
the minimum value of x 7

ia) 10
hy 12
() 15

(3 NEFI-IE of the above

Consider the following for the next two (02)
itemas that follow ;

For the system of linear equationz 2x + 3y + bz = 9,
Tx+3y—2z=8 and 2x+3v+iza=4

Under what condition does the above system
of equations have infinitely many solutions 7

(a) A=Bandp=9
ib) A=Gandu=9
(e} A=8andp=5
(dif A=9andpu=5

Under what condition does the above system
of equations have unique solutions ?

{a) A=Handpu=19
{b) AwbBandpu="7Tonly
(e} A =bandy has any real value

{d) Aihas any real valueand p=9

What is the number of odd integers between
1000 and 8999 with no digit repeated 7

(e} 210D

(b) 2120
(e} 2240
(dy 3331



38. What iz the greatest wvalue of the|[42,
positive integer n sabisfying the condition
i [ | 1 1

1+E+I+E+"'+3ﬂ-1 {E_E ?
{a} 3
{b) 9
e} 10
(di 11

Consider the following for the next fwo (02)
items that follow : 43.

9x% + 3x — =0 has roots —2 and P while the
equation x° — 3mx + 2m® = 0 has both reots

positive, where c>0 and p=0,
39. What is the value of 2 ?
(a) 1f2
by 1
(e} 2
d) 4 44.

40, If B, 2, 2m are in GP, then what is the value

of fvm 7
a) 1
by 2
ey 4
id) 6
41. gin A + 2 sin 2ZA + sin 3A 18 equal to which of
the following 7
1. 4 sin 2A cos” [%J

2
2 2 sin 2A [ainé+ma£]
2 2

. 3 Eﬁriu.nﬂh.n::u:-us.'5“:«::5:"'t [%]

L

Select the correct answer using the code given
below :

fa} 1and2anly
(b} 2and3 only
fe) 1and3 enly
{d} 1,2and3

ADN-5-SND (12 -A)

If x=3ain T0®. gin 60° and
¥ = cos 60° . cos 80°, then what is xy equal to 7

fa) 1/18

(b) 18
(e) 1fa
() 1f2

If sin By + sin By + sin O, + sin 8, = 4,
then what is the value of

cos By + cos By + cos By + cos 6, 7

(a)
{b)
Leh
(d)

# B3 = O

What iz the value of
[1+ma§] [1+ma3—“]|:1 +ﬂlﬂ-ﬁ—ﬂ-] [1+-ma33] T

8 B8 B
1

|: L

L 2

. O |

B) =+——
2 a2j2

(e) AN
2 a2/s
1

G o=
w

If xcos 8+ y#in 6 = z, then what is the value
of (x sin 8 — y cos §)° 7

53} 32+y2—£2

(ki :{2-33-31
el 12—}r2+zﬂ

(d) Jr2+;|.rE ¥



48. What is the value of cos (2 oz 0-8) 7 49. A moving boat iz ohserved frem the top of a
cliff of 150 m height. The angle of depression

(al 081
of the boat changes from 607 to 45° in
th) 056 2 minutes, What iz the szpeed of the beat in
fed 048 metres per hour 7
4500
tdl 028 fa) ——mu
V3
- 4500043 - 1)
47. The top of a hill when observed from the top V3
and bottom of a building of height h is &t {e) 450043
angles of elevation p and q respectively. What
4500143
is the height of the hill ? (d) *
(a) _hotg
oot q — oot p 50. What i 1-tan 2" cot 62°
e o equal to 7
h cot p
(b) e (a) 3
by =48
(e} Zhtanp i 8
fan p—tanqg e 2 -1
o 2htanq Wy 1-42
lang—tanp

61. An equilateral triangle has one vertex at (0, )
and another at (3, J3). What are the

JE—i coordinates of the third vertex 7

48. If sin 18" = , then what is the value of
{a} (0,23 ) only

gin B1° 7
(bl (3. —+3 ) only
&) v3+45 +y5 -5 (¢} (0,23 )or(3,—3)
4
(d) Neither (0,243 ) nor(3, -3 )
(h) urﬂ-i--.'rf_: +-|'|[5+1|'E
4 52. What is the equation of the right bisector of
the line segment joining (1, 1) and (2, 3)7
© ‘||3—1|"_+1.|r5—-.|'5 a) 2x+4vy-11=0
4

(b} Zx-4y-5=0

o J83+5 - J5-6 (¢) 2x—dy-11=0
4 (d) x-y+1=0

ADM-5-5ND (14 -A)



54,

ADN-5-SND

What iz the radiug of the circle passing
through the point (2, 4) and having centre at
the intersection of the lines x — v = 4 and
28 + By + T=07?

(a)
(b}
(e
{d}

3 units
5 units
3.3 units
542 units

What is the equation of the hyperbola having
a

J5

latug rectum and eceentricity 8 and
respectively 7

(&)

(bl
g} ——==—=1

(d)

If the point {a, a) lies between the linea

| x + ¥ | =2, then which one of the following
is correct 7

|a | <2
Ialtﬂ

|a] <1
8] <

V2
What i= the equation of the straight line
which passes through the point of intersection
of the straight lines x+2v=56 and
3x+ Ty =17 and is perpendicular to the
streight line 3x + 4y =107
(a) 4x+3v+2=0
(b} 4dx=y+2 =0
{c) dx—-3y-2=0
(d}y dx-8y+2=0

la
(b}
(e}
(d)

av.

(16-A)

If (a, b) is at unit distance from the line
8x + By + 1 = 0, then which of the following
conditions are correct 7

A da—4b—4=0

2. Ba4+Bbasll=0

3. Ba+6b=9=0

Select the correct answer using the code given
below :

(a} 1and 2only
(b} 2and3only
{¢) 1and 3only
{dy 1,2and3

If the ellipso ax” + 153.-'= = 144 intercepts the
line 3x + 4y = 12, then what is the length of
the chord so formed ?

{al S units
(b} 6 units
(e} Bunits
(d) 10 unita

A straight line cuts off an intercept of £ units
on the positive direction of x-axis and passes
through the point (— 3, §). What iz the foot of
the perpendicular drawn from the point (3, 3)
on this ling 7

(a) (1,3)
th) (2,0
(e (0,2)
td) (1,1)

What is the eccentricity of rectangular
h;.!pcrhula?

(a) 2
(by 3
(e} 6
(d) 6



Congider the following for the next two (02)
items that follow :

Let @ be the image of the point Pi— 2, 1, — &) in the
plane 3x -2y + 2z + 1= 0.

61. Consider the following :

1. The coordinates of Q are (4, - 3, - 1).

2. P4 is of length more than 8 units.

d,  The point (1, = 1, = 3} is the mid-point of
the line segment PQ and Hes on the
given plane.

Which of the above statements are correct 7

(a} 1and2only

(b} 2 and 3 only

(¢) 1and3only

dy 1,2and3

682. Consider the following :
1.  The direction ratios of the line segment
PQare<3, -2 2>
2. The sum of the squares of direction

cosines of the line segment PG is unity.
Which of the above statements ia/are correct ?

ta) 1 only

ib) 2 only

(e} Both1land2
(d] Neither 1 nor 2

Consider the following for the next ftwo (02)
ttems that follow ;

64. What is the equation of the line L 7
(&) x—5=}r+ﬁ=zh'i
=1 4 -3
o I 2 E__E - Sl
~1 1 - o
-5 6 -7
(e) X =:|."+ =E
-1 -4 a
y X9 _y+6 w7
= —4 =

Consider the following for the next fwe (02)
items that follow :

A i
=1+ J,

-3

=)
B o+,

—¥ =5 n —»

Let a b =3i +4k and b =
—3 —¥ =

where ¢ i8 parallal to a and d is perpendicular

_,.
o a .

_j.
68. Whatis ¢ equalto?

AR

i Elti2+ )
5 Eti; i
(el i?;ﬂ'
(d) “;5}

-k A L] A
A Brs L passes thrnugh the P‘ﬂiﬂt P{li: = ﬁ-, 71 and 66, If d =xi + .'!u"_'i i 3]{4 then which of the
is paralll to the planes x+y+z=1 and following equations igfare correct ?
2x—-y-2z=3 b X=X
2, 2:2-3=0

B3. What are the direction ratios of the line of Select the correct answer using the code given

intersection of the given planes ? below ;

al =1, 4,3= ia) 1only

b) <-1-4,35 (b} 2 only

0) =<1,=438> {e) Both 1 and 2

d) =<1,-4,-83> {d} Neither 1 nor 2
ADN-5-SND (18=A)



Consider the following for the next two (02)|72.
items that follow :

- - -
let a, b and 1‘:. be three vectors such that

e A O S — —
a +b + ¢ =0,,and |2 |=10, | b | =8and

_’.
| e ] =14,

i T -

67. Whatis a.b +b.c + c.a equalto?

(n) -—332

thl =166

ey 'O

idl 16&

— —

88, What is the angle between a and b 7

(a) 30°

(h)  456° 74,

[ O 1 o

(dl 75"

69. In a right-angled triangle ABC, if the

hypotenuse AB = p, then what is
-3 = 3 > 3 =
AB.AC + BC.BA + CA.CB equalto?

ay p

by p

fe)  2p°
i

@y B 4.
2

—h A A A
T0. Aforee F =31 42j -4k is applied at the
point {1, —1, 2. What is the moment of the
forece about the point (2,-1,3) 7

1 " M
(a) 1 +4)+4k
A A v
) 21+ +2k
~ A A
) 21 -7j-2k

@) D +47 -k 75.
71. What i the domain of the function
1
fixl=2 ———7
|x|—x
{a) (=5, 0)
by (D )
(o) 0 <x]
d) x>1

ADN-S-SND (20-A)

Congider the following in respect of the

i 2+x EzD
function fix) =
2—x, x<0
1. lim flx) does not exist.
X ]

2 fix) is differentiable at x = 0.
3. fix) is continuous at x = 0.
Which of the above statements isfare correct 7

(&) 1aonly
(b} 3 only
(e} 2anda3only
(d} 1and3only

Let f: A— R where A = R\ [0 is such that
g e ZHEL G i oneof the Sillawing

x
sets is flx) eontinuous ?

(a) A

b)) B=lxeR:ixz0
ey CslxeR:x<0]
dy D=R

Which one of the following statements
iz ecorrect in respect of the function
fix) =x* sin x 7

(a} It has local maximum at x = 0.

(b) It has local minimum at x = 0.

(] It has neither maximum nor minimum
atx =M.

{d) It has maximum value 1,

What is the area bounded by the curves
fy]=1-x?

{a)  4/3 square units
(b}  8/3 square units
icl 4 square units

(d) 16/3 square units



Consider the following function for the next|80.
fwao (02) items that follow :

3:-:5+12:|:—1. =-1<x<2
=
37 -x, 2=x=<3

fix)

76. Which of the following statements isfare
correct

1. fix) iz increasing in the interval [- 1, 2.
2. fx) is decreasing in the interval (2, 3).
Select the correct answer using the code given

Which of the following equations igfare
correct 7

L. f=2)=15)

2. M-2)+ 05} + £(3) =4

Select the correct answer using the code given
below :

(a) 1only

(b} 2 only

{c) Both1land?2

(d) Neither 1 nor 2

:;.lwi anly Congider the following for the next three (03)
Eoms that follow ;

il e Let fx)=[x], where [.] is the greatest integer

‘), Both-land 2 function and gixi=sinx be two real valued

(d} Neither 1 nor 2 functions over K.

77. Which of the following statements are|Bl:
correct 7
1, flx) is continuous at x = 2.
2.  fix) attains greatest value at x = 2.
3.  fix)is differentiable at x = 2.

Select the correct answer using the code given

below :

(a) 1and2aonly

(b} 2 and3 only 82,
{e) 1 and3 only

(dd 1,2and3

Consider the following for the next three (03)
ilems that follow :

Let flx)=|[x| — |x - 1])%

78. What is f'{x) equal towhenx = 17

fa) 0 83,
(b) 2x-1

) dx-—-2

(d) 8Bx-—4

79. What is f'{x) equal towhen 0 <x <17

(a) O

(b) 2Zx-—1

{e} 4dx-—2

(d) Bx-4

ADN-5-SND (22-A)

Which of the following statements is correct 7

(a}  Both fix}) and g(x) are continuous at
=

(b} fix}is continuous at x = 0, but gix) is not
continuous at x = 0.

le)  gix)is continuous at x = 0, but fix) is not
continuous at x = 0,

id)  Both fix) and gix) are discontinuous at
=1,

Which one of the following statements is

correct 7

{a) ]im“ (fog) (x) exista.
i

i) Iimn (gof) (x) exiats.

X =p

(¢) lim (fog)ix) = lim (gof)ix)

¥ = - 1..,':-
(d} lim {(foeg)ix) = Em (gof)ix)
X =il s | I

Which of the following statements are
correct 7

1.  (fof) (x)=Hfx).

2. (gog) (x) = gix) only when x = 0,

4. (golfog)) (x) can take only three values.
Select the correct answer using the code given
below :

(e} 1and2only

(b} 2 and 3 only

(e} 1and 3 only

(d} 1,2and3



Congider the following for the next fwo (02)
items that follow :

et =1
Let fix) = Tl be a real valued function.
0, x=af
B4. Which one of the following statements is
correct ?
{a} fix) iz a strictly decreazing function in
(0, 2k,
(b) fix) iz a sirictly increasing function in
(0, xJ.
(e}  fix) is neither increasing nor decreasing
m (U, x).
(d) fix}is not decreasing in (0, x),

Which of the following statements ia/are
correct 7

1.  flx)is right continuous at x = 0,

a flx) ia discontinuous at x = 1.

Select the correct anawer using the eode given
balow -

(a) lonly

(b} Zonly

{c} Bothland?2

{d} Neither 1 nor 2

Consider the following for the next two (02}
items that follow :

Consider the parabola y=x"+7x+2 and the
straight line ¥ = 3x — 8,

B86. What are the coordinates of the point on the
parabola which is closeat to the straight line 7

(@) {0, 2)
{th) (-2, -8)
dy (1, 10)
87, What iz the shortest distance from the shove
point on the parabola to the line ?
(&) E
2
J10
bl —
5
i
(el ——
J10
J5
(d) i
ADN-S-SND (24 -

Consider the following for the next three (03)
items that follow :

J -2, —3=2x=0
|x-2, 0<x<3
glxl =1 x| )+ | x|

Let fix) = and

88, Which of the following statements isfare
correct 7
1. gix)is differentiable at x = 0.
2. gix) isdifferentiable at x = 2.
Select the correct answer using the code given
below
{a) 1 enly
(b} 2 only
(¢} Bothland?2
(d) Neither 1 nor 2

89, What is the value of the differential coefficient
of glx) at x=-27
a) =1
by O
) 1
(d} 2
80. Which of the following statements are
eorrect 7
1.  gix)is continuouz at x = 0.
2. gix)is continuous at x = 2.
3. glx}is continuous at x = —1.

Select the correct answer uzing the code given

below :

la) land2only
(b} 2 and 3 only
f¢) 1and3only
(d) 1,2and3

A



91. Let fix) be a function such that
1
1 z
f*[;J + %% £0x) = 0. What is I fix) dx
-1
equal to ?
(@) 21)
(b) 0O
fe) 211-1)
(d} 4Mf1)
. |
92, Whatis dx equal to 7
:EE-,JI:* +xd 41
l:" +x* +1
ta) \’—+E
X
i 1
{h} ||: R i
X
ie) xz+iﬂ+1 +e
X
4 2
(d) J-:t —X +1+c
x
83. What are the degree and order respectively of
the differential equation satisfying
] 2
I=x 4+ 31-¥" = ce®, (where ¢ > 0, |x]| < 1,
|¥| <137
(a) 1,1
by 1,2
@ 21
d 22
84. What is the curve which passes through the
point (1, 1) and whose slope is iy 7
X
(a} Circle
{b) Parabola
(¢} Ellipse
id} Hyperbola
ADMN-S-SND

(26-A)

If xdy -yd:-l-jrzd'_lf. v >0 and y(1)= 1, then
what is y{—3) equal to ?

(a) 3Jonly

(b} =1only

{¢) Both—-1and3

{d} MNeither =1 nor3

What is the order of the differential equation

E+erx=xa =

dy

gy 1
by 2
e}y 3

{d) Cannot be determined

Which ome of the following differential
equations represents the family of straight
lines which are at unit distance from the

origin ?

o (2
{b) [y + xg%]g = 1+ ['—E]ﬂ
lel [}*—x%f: 1+[%)2
@ [yu:mi]z ! 1_[‘%’}2

(@) (x+secx)e™®4e¢

(b) {(x—secx)e"™* ;¢
e} (x+tanx) eﬂk”+t:

(d) {x-—tanxie™*+¢



99.

100,

101.

102,

a3

f _dx
O ons X b

0
value of k 7

(a) 1/4
(b) 1fg
(e} 1
(d) 2

=k cot™} 2, then what is the

3
What is I|1_x‘ |dx equal to 7

1

(a) —232/5
(b} =116/5
(&3 116/5
(d) 232/5

A special dice with numbers 1, -1, 2, -2, 0
and 3 is thrown thrice, What iz the probahility
that the sum of the numbers oceurring on the
upper face is zero 7

(a) 1f72
(by 1/8

(e} /72
(d) 25/216

There is 25% chance that it rains on any
particular day. What is the probability that
there is at least one rainy day within a period
of Tdays ?

oL
(1
(h) 1-;]
3 T
(e} (E]
3
d) 1= [E]
1
ADN-5-SND

103. A zaleaman has a 70% chance to sell a product

104.

106.

(28-A)

W any customer, The behaviour of successive
customers is independent. If two customers
A and B enter, what i2 the probahility that the
salesman will sell the product to customer
AarB?

tal 028
{b) 091
(e 070
(di 049

A student nppears for tests I, 1T and III. The
student is considered soccessful if he pazses in
tests I, T1 or I, TII or all the three, The
probahilities of the student passing in tests I,
IT and 11T are m, n and 1/2 respectively. If the
probahility of the student to be sucressful is
1/2, then which one of the following is

correct 7

{(a) mi{l+ni=1
(bl mnil+mj=1
ey m=1
(df mn=1

Three candidates solve a gquestion. Odds in
favour of the correct answer are 5: 2,4 : 3 and
4 : 4 respectively for the three candidates.
What is the probability that at least two of
them solve the question correctly 7

(a)  209/343
(b) 134/343
(1 149/343
(d} 60/343



106, Consider the following statements :

1. The mean and median are equal in
symmetrie distribution,

2.  The range i5 the difference between the
maximum value and the minimum value
in the data,

3.  The sum of the areas of the rectangles in
the histogram is equal to the total area
bounded by the frequency polygon and
the horizontal axis,

Which of the above statements are correct 7

{aj 1and2only

ib) 2and3only

i} 1and3only

(d) 1,2and3

107. The scores of 15 students in an examination

were recorded as 10, 5, 8, 16, 18, 20, B, 10, 14,

20, 18, 11, 16, 14 and 12. After calculating the

mean, median and mode, an error is found.

Ome of the values i8 wrongly wrnitten as 16

instead of 18. Which of the following measures

of cantral tendency will change 7

(a) Mean and median

b} Median and mode

(¢} Mode only

(d) Mean and mode

108, For 10 observations on pree(x) and
supply (v), the following data was obtained :

¥ x =130, T v =220, ¥ x* = 2088, ¥ y* = 5506

and » xy=3467.

What iz the line of regression of v on x 7

{a) y=091x+874

B y=1-02x+ 574

(e} y=100x—T02

(d)y vyva=a09ix—T02

ADN-5-SND

1049.

110.

(30—A )

In a study of two groops, the following results
werse obtained :

Group | Group
A B
Sample size 20 25
Sample mean 23 23
Samiple standard deviation 14 1

Which of the following statements is correct 7

{a) Group A is less variable than Group B
because Group A's standard deviation is
smialler,

Group A is less vanable than Group B

because Group As sample size s

(b}

amaller.

(e} Group A is less variable than Group B
because Group A's sample mean is
smaller.

id) Group A iz less variable than Group B

because Group A's coefficient of

variation is smaller,

Consider the following statements in respect

of c¢lasa intervals of prouped frequency
distribution :

b Clasa intervalz need not be mutoally
exclusive,

o Class intervals should be exhanstive,

3. Clasa intervals need not be of equal

width.
Which of the above statements are correct ?
{fa) 1 and 2 only
{(b) 2and 3 only
{¢) 1and3only
(d} 1,2and3



111. A medicine is known to be 76% effective to
cure a patient. If the medicine is given to
5 patients, what is the probability that at least
ong patient is cured by this medicine ?
1
= oz
43
(b} ———
: 1024
1023
i st
?  JToza
T81
0 1024
112. For two events, A and B, it is given that
P(A) = 2, P(B)= - and PIA|B) = 2. If &
and B are the complementary events of A and
B, then what is P{A | B) equal to?
3
{a) ?
3
(b) =
1
{c) E
4
id) =
113. A machine has three parts, A, B and C, whose
chances of being defective are 0-02, 0-10 and
05 respectively. The machine stops working
if any one of the parts becomes defective.
What is the probability that the machine will
not stop working ?
(a) 006
ithy 016
ie) 0-B4
d) 084
ADN-5-SND

114.

115.

118.

(32-A)

Three independent events, ‘!“1' AE and h,q

1

ith 1
g T+3

OCCur probabilities FULI} =

i=1, 2 3 What is the probability that at least
one of the three events oceurs 7
(a)

(b}

(]

|,_, e | B B b | e

td)

]
.

Two variates, x and y, are uncorrelated and
have standard deviations o, and a,
regpectively,. What iz the correlation
coefficient between x+y and x =y ?

Oy

& 3
Oy +0;

{a)

Oy + Oy

(b}

20 T
2 =
%] —ﬂ_,r
)

+a
)

el

o

MR-

Oy — Oy

(d)

Ty Ty

A random sample of 20 people is classified in
the following table according to their ages :

Age Frequency
15- 25
25 - 35
35— 46
45 - 56
55 - 66

== == B = -8 " R I =

What is the mean age of this group of people 7
fay 410
th) 415
(e) 4240
dy 425



117. If the covariance between x and y is 30,118,

variance of x is 25 and variance of v iz 144,

then what is the correlation cosfliciont 7

(a) 04
(b) 05
fch 06
@) 07

118. A coin is tossed three times Consider the

following events :

A:  Nohead appears

B: Exactly one head appears 120,

C: At least two heads appear

Which one of the following is correct 7

(a) (AUBINAUCI=BUC

by ANBIUVANCI=sB LT

(e} ANBUC)I=AUBULC

d) AnNBUC)=RnNC

ADN-S-SND (34-A)

In a series of 3 one-day cricket matches
between teams A and B of a college, the
probability of team A winning or drawing are
1/3 and 1/6 respectively, If a win, lozs or draw
gives 2, 0 and 1 point respectively, then what
iz the probability that team A will score

b points in the series ?

(a) %g
(b) :%
] é
(d) ﬁ

Let the random variable X follow B(6, p). I
16 P(X = 4) = P(X = 2), then what is the value
of p?

(a) -31-
(b) i
(e} %
@ %



